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| Semester B.Sc./B.Sc. (FAD% EX«'lminmirm, March/April 2023
(NEP) (2021 — 22 and Onwards) (F+R)
LANGUAGE SANSKRIT |
Mahakavya — Kiratharjuniya Sarga I and II

(Grammar and Comprehens;iu;)v

\.l"’ r f;/‘\"

Time : 2% Hours arx. Marks 2 60

ﬁlﬂn‘ﬁ
Instructions : ) Answer in Sanskrit/Kannada/Eﬁtﬂish
ii) Q. No. I, VI and VIl should be answared in”

. Al 3?15; ﬁma l (1%8=8)

Select the correct answer.

1) Terramsrmersrey wfaam: af ?

H) A= 1) 9e

3) Wre HIERIE
2) afvifergl @: ?

) HHAL: 3) TR

g) U 3) T
3) aRfaehd: I 4 fhy 7

) FO: I IALICE

3) Engéa: é) AT
4) JomTaer TR 7

3) fied g) &
5) g9l g4 QF’N ?

#) Afed 1) fed

7) fird 3) st

P.T.O.
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6) fertraTelfia WeTHTS Hisw: wyl AT 7

3) TFR ar) @i
3) HEm 3) W
7) SEHL h: 7
3) i : 1) gﬁl’r@l
g) S-Fi'—l: d) et
8) ursaTedl &1 ?
) i af) Al
3) MR g) ol
Il. T IR fored | (1x8=8)
(e w,qn 'E.:..\.,\.H

Answer any one question.

1) 7= AW fo&q 7 AETRerE deonfa foed |
E::S Q0TTERD ? T ?rj o uﬁrm u} WOo00.
Whai is Kavya ? Discuss the charactenstlcs of Mahakavya.

2) forarsa=a vemate A fored |
$TOSOTOF RECHT T, TR ANFT XT0IBI), LIAWO.

Write the summary of the first Canto of Klralarjuniyam.

Zai: agfeofi forad | (2x4=8)

QTR DTFODNTRY ﬁ‘ou OO LWJF“ wWooXd.
Write short notes on any two of the following.

)’43137&"'3411'&1:!
2) US=EUUEdl: |
3) a=t: |

4) Zradl |
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V. SIGUI YAl 316 et fagupd |
Cﬁ]'.‘;j‘uuuuﬁ '_:JCD ud?.r\ ﬁ’ﬁu’ﬁ 500wl WA,
Translate and explaln any four of the Shlokas.

1) Favomm el wds ot awn Fegfeem, |

A foead qwr w7 f find waaq frssfy g1 fadfaur: )

%m‘gmq‘l Hed: T :gcrra:mnsfq Fifyenfas; |
qUeTeaaifsral qeftad 7o Sid S e )

3) e |m 7 grafid 7 yher fore afemm |
ardd w6 fegmunfer o oo 1 afern |

uﬁqwmﬁmﬁuwm |

Hﬁwﬁmwmmmﬁrﬁwu
5) fermisty fomera w: el v zamm, |

| q T feiugeta: wgr=refa Fegaeta: ||
6) wgeaiud feaferft gu feremg Frsfenmm |
HUH Afdfdrid wivfl vgiEmdaf ||
V. ga:a= fague |
O3RDYTHTTR ITHRT x:wa;ras?‘% WTOWO.
Annotate any two of the following.
) f&d HAEm = @"‘-’I g4 |
2) =R feriensty aw warenfy: |
3) TrgaeH famn 7 |fer |
4) =TT T A |
VI. EE=ha e i forad |

NGN‘!)\:'.\ &JquC«)J@ UD\‘_‘;EJ
Answer in Sanskrit.

) GERAITEAT I A (TSaHEa)

1) e 2) 2T
3) TE: 4) o
5) T 6) @
7) a%: 8) fagm
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(4%3=12)

(2x3=6)

(5x1=5)
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3) weawl iy faulad-a=mi foea | (5x1=5)
1) SieHd: D) @
3) T 4)
5) I 6)
7) TSl 8) T
VI i uieas wieedn el sefon ferer | (4x2=8)

W SRR W A S el | e A HvERY ARG T | A
mﬁwﬂlﬁﬁwm,éﬁa;mﬁmﬂlam:ﬁmmmi
Faa: Hiw g it wenfian | amed s WG qiH G T
TS T ATV Jeell HieRTa =i gf wedl, 9 o Hemf srEreAed: At |
el il 7 3 Ificn 7wt wefigaar | o S wei | g
femfy o 7 woflem "~ gfa wo: |

1) W A T F 3T 7

2) TS WR: foh & Ueaq 7

SJWEﬁ:ﬁFm\?

4) 31d: =3t fob agf 7




